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Option G Urban environments

The graph shows trends in world urbanization
between 1950 and 2050.
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World urbanization for different world areas, 1950—-2050
Source: http://www.coolgeography.co.uk/A-level/AQA/Year%2013/World%20Cities/Urbanisation/UrbanisationPatterns.pn
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(@) () Identify the two areas where the urban
population is predicted to grow most by
2050. (1)

(ii) State the location where the least urban
growth is projected to occur. (1)

(iii) Suggest one reason why rates of
urbanization vary. (2)

(b) Explain three reasons for the development of
heat islands. (2 + 2 + 2)

(c)
Either

“The informal economy is the effective way for
most people to get out of urban poverty.” Discuss
this statement. (10)

Or

Examine the social and demographic consequences
of deindustrialization. (10)




